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1. �N� f : X −→ Y . T1, T2 ´ Y �ü�f8, y²µ

(i) f−1(T1 ∪ T2) = f−1(T1) ∪ f−1(T2),

(ii) f−1(T1 ∩ T2) = f−1(T1) ∩ f−1(T2).

2. - S, T �ü����8Ü, � |S| = m, |T | = n. ¯µ

(i) S � T �ïáõ��N�º

(ii) S � T �ïáü�!V��^�´�oº�Uïáõ��º

(iii) � m = 3, n = 2, l S � T �±ïáõ��÷�º

3. � f(x) = sinx, �½Â�� R.

(i) ?� y ∈ [−1, 1], ¦ f−1({y}).

(ii) ¦d f p���d'X ∼f �û8(�d'X: x ∼f x
′ ⇐⇒ f(x) = f(x′)).

(iii) �xþã�d'Xp��ûN� π Úg,Ý� f̄ .

4. �dAp7-1�ò130�µ2, 3.

5. � | ´ Z+ þ��Ø'X, =é a, b ∈ Z+, a|b XJ�3 m ∈ Z+ ¦� b = ma. �y:

| ´ S, ¿Þ~`² | Ø´�S.
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